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1. [6 points] Convert the following ODE to a system of first order ODEs and write It
inthe form of ¥’ = A¥. Do NOT solve it
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L i pn-'mt:l solve the following ODE. Show the details of your work.
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Two tanks T,and T; are connecled as
shown in the figure. Tank T contains

Inttially 200 gal of water with 90 Ib
fertilizer dissolved in it, whereas T

contains initially 150 1b of fertillzer
dissolved in 100 gal of water. By circulating
liquid at a rate of 2 gal finin and stirring (to keep the mixture uniform) the
amounts of fertiizer v, (£) in Ty and y,(2}in T; change with time [. How long

should we let the liquid circulate so that T will contain as much ferlilizer as
there will be left in T, ?
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&) 16 points] Find the particular solution of the follawing syster of ODEs, H its

homogeneous solutlon bs as written below:
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